Quiz 21.1A

1 a) Aglider carrying a charge of 410 uC is flying through the air in a direction 35° North
! of East at a rate of 28 m/s. The glider feels a magnetic force of 7.7 x 10 N directed
vertically upward. What is the magnitude and direction of the uniform magnetic field
through which the glider is flying, assuming the field is perpendicular to the velocity?

i b) If the glider with the same charge and same velocity as in (a) is moving through a
uniform magnetic field of 7.8 uT directed due Ma=#ir, what will be the magnitude and
direction of the magnetic force it experiences? Mes#
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